Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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e 4x. Marks:100
ote: Answer any FIVE full questions, selecti{gg‘ )
at least TW O questions from each part:\

PART - A

5 | 3 . . § W; .
n'of data warehousing. Discuss the need fo warehousing. (06 Marks)

Give the difference between OLTP and data warehouse sy{ste:n\is» (04 Marks)

D1scuss the charactcn‘St s\of operational data store with\its’ design and implementation
’ (10 Marks)

(10 Marks)
(05 Marks)
(05 Marks)

(10 Marks)
(10 Marks)

What is Frequent Itemset Generat10n‘7 Exglam Frequent Itemset Generation using Apriori
principle. N (10 Marks)
Given the following set of transactions i
(FP tree) show each transaction separately

Transaction ID . ‘Items bought
01 Mi[&%@bread, cookiesy:
02 i "‘Mi}i& juice
03 TMilk, eggs
04 A}Bread cookies
05 Juice, eggs
06 “~. /| Bread, eggs
(10 Marks)
PART - B

Explain Hunts/ alémzithm Using Hunts algorithm write decision tree for -the following data:
id Annual | Marital | Default
owner | Income Status borrower
Yeas | 125K | Single No
No 100 K | Married No
No 70 K Single No
Yes 120 K | Married No
No 95 K | Divorced Yes
60 K | Married No
Yes | 220 K | Divorced No
No 8K Single Yes
No 75 K | Married No
No | 90K Single Yes
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(10 Marks)
Explain the various measures for selecting the best splits. (05 Marks)
Explain the rule evaluation criteria for classification. (05 Marks)
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N Explaln how the predictive accuracy of classification methods be estimated.

(10 Marks)

Wh\at are Bayesian classifiers? Explain Baye’s theorem for classification. (1
(10 Marks)

Explam the fellowmg clustering techmque with algorithm.
i) K- mean “method

i) Divisive hierarchical method. (10 Marks)

g? Explain Web document clustermg (06 Marks)
Explain dlfferent text iining approach. (08 Marks)
Describe sequential rf\infng»techmque with an example., (06 Marks)
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